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Order and degree of differential equations

Differential Equation

The order and degree of the differential

2 2
d’y =1+ (QJ is
dx? dx

equation
(A) 4,2 ®) 1,2
©2,2 (D) 2,%

The order and the degree of the differential

2 \? 3
equation [%j +3 (é) +4 =0are

dt

(A) 2,2 (B)23
(©)3,2 (D) None of these
The order and the degree of differential
equation

4 3 2
d 4y—4d Z+8d Z—8g+4y=0
dx dx dx dx
are respectively
(A)4,1 B)1,4
O 1,1 (D) None of these

The order of the differential equation

() /A2 »

dx dx \dx

(A1 (B) 2

©3 (D) 4

The order of the differential equation
whose solution is

x*+y  +2gx+2fy+c=0,is

(A1 (B) 2

©3 (D) 4

The order of the differential equation of all
circles of radius r, having centre on y-axis
and passing through the origin is

(A1 (B) 2

©3 (D) 4

EXERCISE-I

7.

10.

11.

12.

13.

| 4

>

The order of the differential equation
whose solution is
y=acosx+bsinx+ce " is

(A)3 (B) 2

O 1 (D) None of these

The differential equation of all circles of
radius a is of order

(A)2 B)3

©) 4 (D) None of these
The differential equation of all circles in
the first quadrant which touch the
coordinate axes is of order

(A) 1 (B)2

©)3 (D) None of these

Order and degree of differential equation

dzy dy A
i :{Y+(d_xj } are

(A)4 and 2 (B) 1 and 2
(C)1and 4 (D)2 and 4
The order and degree of the differential

3/2

equation p = are respectivel
o P = e Pecively

(A)2,2 B)2,3

O 2,1 (D) None of these

Order of the differential equation of the
family of all concentric circles centered at

(h, k) 1s

(A1 (B) 2

©)3 (D)4

The degree of differential equation
2 3

d_};J{Q) +6y=0is

dx dx

(A1 (B)3

©)2 (D)5




Differential Equation

14.

15.

16.

17.

18.

19.

20.

The order and degree of the differential

. d’y y dy :
equation [dxzj +(d—x —-xy=0 are

respectively
(A)2and 4 (B)3and 2
(C)4and 5 (D)2 and 3
3 2
d Z + 2[1 + d Z} =1 has degree and order
dx dx
as
(A)1,3 (B)2,3
©)3,2 (D)3,1

The degree and order of the differential
equation of the family of all parabolas
whose axis is x—axis, are respectively
(A)2,1 B)1,2

©)3,2 (D)2,3

The degree of the differential equation

d 2 \3/4 dz 1/3
1+ (_y) = Y 1S
dx dx?

1
(A3

(B) 4

©)9 (D) %

The order and degree of the differential

3 2 2
equation x (j—y) +2£d Zj +3y+x=0

X dx

are respectively

(A)3,2 B)2,1

©)2,2 (D)2,3

The degree of the differential equation

2
d_z/_ g—3=xis
dx \ dx

(A)2 B)1

©) 12 (D)3

The order of differential equations of all
parabolas having directrix parallel to x-axis
is
(A)3
©) 4

(B) 1
(D)2

21.

22.

23.

24.

Formation of differential equations

The differential equation of the family of
curves y=acos(x +b) is

d’y d’y
A)—-y=0 B) —+y=0
(A) 7Y (B) 7Ty

2

d
(©) d—Z +2y=0 (D) None of these
X

The differential equation for all the straight

lines which are at a unit distance from the

origin is

) y—xj—zzﬂ— j—z
(B) y+xj—i’2:1+ g—iz
© y—xj—z2:1+ j—zz
(D) y+xj—zj2:l— j—z 2

sin"!x

If y=ce , then corresponding to this

the differential equation is
d 1
(A) = =—=

dx 1-x?

d
B) ==
dx 1-x*

X
NIE'S

The differential equation of the family of

(©) % = (D) None of these
X

curves represented by the equation

x’y=a,is

(A)g+2—y:0 (B)Q+Z—X=O
dx x dx vy

O 022
dx x

Ay




Differential Equation

25.

26.

27.

28.

The differential equation corresponding to
primitive y =e™ is

or
The elimination of the arbitrary constant m

from the equation y=e™ gives the

X
(—J logy
y

o Y_ (lj logy (D) a5 _ (3} log x
dx \x dx \y

differential equation

dy_(y dy _
) dx_(x)logx ®) dx

The differential equation whose solution is
y =, cosax +c¢, sinax is
(Where c,, ¢, are arbitrary constants)

2 2
(A) d y+y -0 (B %+a2y=0

2 2

d’y d’y
©) §+ay2 =0 (D) Q—a2y=0

The differential equation for the line

y=mx+c 1is (where c¢ is arbitrary
constant)
(A)g—m (B)g+m=0
dx dx
dy
©) = 0 (D) None of these
X

The differential equation of all straight
lines passing through the point (1,—1) is

(A)y:(x+1)d—y+1
dx

®) y=x+nD 1
dx

© y=(-D 41
dx

(D>y=(x—1>%—1

29.

30.

31.

32.

The differential equation of the family of

curves y° =4a(x+a), where a is an

arbitrary constant, is

am &
(A) y 1+(dX” 2x

2
1- (ﬂ) =2x &
dx dx

d’y . dy
C)—+2—=0
© dx? dx

dy ’ dy
D)|—| +3—+y=0
( )(dx) dx 4

The differential equation of the family of

B)y

V:é+B,where A and B are
r

curves

arbitrary constants, is

d’v 1dv d’v 2dv
A —+——=0 S 20
(A) r dr B) dr* rdr
2
(C) d gd—V—O (D) None of these
r dr

Family of curves y=¢e*(Acosx + Bsinx),

represents the differential equation

d’y _dy d’y _dy
A =25 B =25 _»
()dz F ()dz F—
2 2
(C>dy By (D)d PR

The elimination of the arbitrary constants
A, B and C from y=A+Bx+Ce™™ leads
to the differential equation

Ay’
B) y"' -y +y’ =0
©) y""'+y”=0

D) y"+y” -

—y'=0

y'=0




Differential Equation

33.

34.

35.

The differential equation obtained on

eliminating A and B from the equation

y=Acosmt + Bsinmt is

(A) y"=-a"y (B) y"+y=0

(€) y"+y =0 D) y"-0’y=0
d’y

If y=ax""+bx™", then x’ o equals to

X
(A) n(n—1)y (B) n(n +1)y

(C)ny (D) n’y
The differential equation of all straight
lines passing through the origin is

dy dy
A = I B — = =+
(A) Y =4* 5 (B) Fia At
© dy =7 (D) None of these
dx x

Variable separable type differential equations

36.

37.

38.

The solution of the differential equation
dy =(1+x)1+y’) is
dx

(A) y=tan(x’ + x +c¢)
(B) y = tan(2x”> +x +¢)
(C) y=tan(x’ —x +c¢)

2
(D) y:tan[%+x+c]

The solution of ? =e"(sinx + cos x)is
X

(A) y=e"(sinx —cosx)+c
(B) y=e"(cosx—sinx)+c
(C) y=e*sinx+c
(D) y=e"cosx+c¢

The general solution of x° gy =2 1is
X

Wy=c+>  B)y=e->
X X

(©) y=2cx (D) y=c——
X

39.

40.

41.

42.

The solution of j—y =xlogx is
X

2

(A) y=leogx—%+c

2

(B) y=X710gx—x2 +c

1 1
© y:Ex2 +Ex2 logx +c¢

(D) None of these
The solution of the differential equation

d .
—y:l+x+y+xy 18
dx

2

(A) log(l+y)=x+%+c
(B) (1+y)’ =X+§+c
(C) log(l+y)=log(1+x)+c

(D) None of these
The solution of the differential equation

(x’ —yxz)j—y+y2 +xy’ =0 is
X

(A) 1og(§j:l+l+c
y) xy

(B) log(zjzl+l+c
X) Xy

(©) log(xy)=l+l+c
XY

(D) log(xy)+l+l=c
X Yy

The solution of the differential equation

xsecyj—yzl is
X

(A) xsecytany =c¢
(B) cx =secy+tany
(C) cy =secxtanx

(D) cy =secx +tan x




Differential Equation

43.

44.

45.

46.

47.

48.

The solution of differential equation
dy ).
——+y=y’is

X dx Y=Yy

(A) y=1+cxy (B) y =log{cxyj

(C) y+1l=cxy D) y=c+xy

If ﬂ + : =0, then

dx  1-x*
(A) y+sin'x=c¢
(B) y* +2sin"' x+¢c=0
(C) x+sin"'y=0
(D) x> +2sin”'y =1

o b vy
dx xy+x

, then the solution of the

differential equation is

(A) y=xe" +c¢ (B) y=e"+c

(C) y=Axe™™” D) y=x+A

The solution of the differential equation
1+cos2

% - zz: 21 =0

(A) tany+cotx=c (B) tanycotx=c¢

(C) tany—cotx =c¢ (D) None of these

The solution of the differential equation
1+ Xz)ﬂ =x(1+y’) is
dx

(A) 2tan”' y =log(1+x’)+¢
(B) tan”' y =log(1+x’)+c¢

(C) 2tan”' y+1log(1+x*)+c =0
(D) None of these

Solution of the equation

(e* +)ydy=(y+1Dedx is
(A) c(y+D(e*+1)+e’ =0
B) c(y+1)(e* =1)+e' =0
©) c(y+)(e"-1)—e" =0
D) c(y+1)(e* +1) =¢’

49.

50.

S1.

52.

53.

Solution of the equation
(1-x?)dy + xydx = xy’dx is
(A) (y=D*(1-x7)=0

(B) (y-1D’(1-x)" =c’y’
©) (y-)’'(1+x*)=c’y’
(D) None of these

The solution of the equation

a+xg+x:0 1s
dx

(A) 3y+2Ja+x.(x—2a)=3c
(B) 3y+2vVx+a.(x+2a)=3c

(C) 3y++/x+a.(x+2a)=3c
(D) None of these
Solution of the equation

cosxcosy—y:—sinxsinyis
dx
(A) siny+cosx=c¢ (B)siny—cosx=c

(C) siny.cosx=c¢ (D) siny =ccosx

The solution of the differential equation
x(e” —=1)dy + (x* —1)e'dx = 0 is

X2
(A) e’ +e’ = logx—7+c

2
(B) e' —e™ =logx—X7+c

2
() e +e” =logx+x7+c

(D) None of these
The solution of

dy =sin(x +y)+cos(x +y) is
dx

(A) 10g[1+tan(x-;yﬂ+c=0

(B) 10g[1+tan(x-;yﬂ=x+c
©) IOg[l—tan(X;yﬂ=x+c

(D) None of these




Differential Equation

54.

55S.

56.

57.

S8.

The solution of the differential equation
dy __X-y+ 3 s

dx 2(x—-y)+5

(A) 2(x—y)+log(x—y)=x+c

B) 2(x—y)—log(x—-y+2)=x+c

©) 2(x—y)+log(x—y+2)=x+c

(D) None of these

The solution of the differential equation

(1-x*)(1-y)dx =xy(1 + y)dy is

2 2

(A) 1og[x<1—y>2]="7+y7—2y+c
2 2

(B) log[x(l—y)2]=x7—y7+2y+c
2 2

(C) log[x(1+ y)’] =X7+y7+2y+c

2 2

(D) 1og[x<1—y)2]="7—y7—2y+c

The general solution of the differential
. (dy) .
equation log| — |=x+y is
dx

(A) e +e’" =c B)e*+e¥ =c
C)e +e' =c (D)e*+e =c
The general solution of the differential

. dy .
equation — = cotxcoty 1S
dx

(A) cosx=ccosecy (B) sinx=csecy
(C) sinx =ccosy (D) cosx=csiny

The solution of the equation

ﬂ_4y2—y—2 is
dx x’+2x-3
1 -2 1 +3
(A) —log Y =—log X +c
3 y+1| 4 % —1
+ —
(B) llogy—1 =llog g1 +c
3 y-2| 4 X+3
) -
(C) 4log L =3log +c
y+1 x+3
(D) None of these

59.

60.

61.

62.

63.

64.

The general solution of the differential
equation ydx + (1+x”)tan”' xdy =0, is

(A) ytan"'x =¢ (B) xtan"'y=c¢
(C) y+tan'x=c (D) x+tan'y=c

The general solution of the differential
2
equation d—y =—is

X Yy
(A) x’ -y’ =c (B) xX’+y’ =c¢
C) x*+y*=c (D) x> -y’ =c¢
If %:e‘z'V and y=0 when x =35, the
X
value of x for y =3 is
(A) & (B) ¢ +1
6
© (D) log, 6

The solution of differential equation

dy —sinxsin ydx =0 is

(A) e™* tan% =G (B) e tany=c

(C) cosxtany=c¢ (D) cosxsiny=c¢
The general solution of the differential

: . d 7 :
equation e’ d—y + (e’ +1)cotx =0 is
X

(A) (" +1cosx =K
(B) (e +I)cosecx =K
(C) (¢ +)sinx =K

(D) None of these

Solution  of  differential equation

ﬂ:sinx+2x,is
dx

(A) y=x"—cosx+c
(B) y=cosx+x"+c¢
(C) y=cosx+2

(D) y=cosx+2+c




Differential Equation

65.

66.

67.

68.

69.

70.

Solution of differential equation

gy =2xy1is 71.
dx

(A) y=ce® (B) v’ =2x> +¢

C) y=e™ +c D) y=x>+c

The solution of the differential equation
(x+y)2ﬂ:a2 is
dx

2
a

(A) (X+Y)2=7X+c 72.

(B) (x+y) =a’x+c
(C) (x+y)’ =2a’x+c
(D) None of these

Solution of the differential equation
dx + dy _ 0 is

x 73.
(A) xy=c (B) x+y=c
(C) logx logy=c (D) x> +y* =c
The solution of differential equation

dy ) dyJ
—-X—=a|y +—|1is

¥ dx (y dx
(A) (x+a)(x+ay)=cy
(B) (x+a)(1—-ay)=cy 74.

(€) (x+a)l-ay)=c
(D) None of these

The solution of log (%) =ax+Dby is
X

e o™ e e
A —=—+4¢ B = +cC
() == (B) —
e—by eax
(©) = +c¢ (D) None of these 75.

1/3
The solution of ﬂ = (XJ 1s
dx X

(A) x* +y* =c
(C) y2/3 _XZ/3 =c

B) x" +y" =c
(D) y1/3 _Xl/3 =c

Homogeneous differential equations

The solution of the differential equation
(x* + y*)dx = 2xydy is

(A) x =c(x’ +y°)

(B) x =c(x’ —y*)

(C) x+c(x* —y*)=0

(D) None of these

The solution of the equation L] _XTy is
dx x-y

(A) o(x> +7>)> +e™ v =0
(B) c(x* +y*)"* = et (v/%)

(C) o(x® —y?)=e™ ¢/

(D) None of these

The solution of the differential equation
(3xy + y*)dx + (x* + xy)dy =0 is

(A) x*(2xy+y*)=c¢c’

(B) x’(2xy~y’)=c’

(©) x*(y’ —2xy)=¢’

(D) None of these

The solution of the differential equation

xdy —ydx =(y/x* + y*)dx is
(A) y—fx* +y’ =cx’

(B) y+4/x +y° =cx’

(C) y+x* +y° +cx* =0

(D) None of these

The general solution of the differential
equation (x + y)dx + xdy =0 is

(A) x> +y° =c (B) 2x* —-y* =c¢

(C) x> +2xy=c (D) y* +2xy=c¢




Differential Equation

76.

77.

78.

79.

80.

The solution of the differential equation
x 4 yﬂ =2y is
dx

—X

(A) log(y—x)=c+ Y

X

(B) log(y—x)=c+

y—X

(C) y—x=c+log

y—X

D) y—=x=c+ x

y—X

The solution of the differential equation

By __%

dx x’+y’

(A) ay’ ="’ (B) ay =e*"

C) y=e+¢e +¢c (D) y=e* +y* +c
dy X

The solution of the equation — = is
dx 2y-x

1S

(A) (x—y)x+2y) =c¢
B) y=x+c

©) y=Qy—-x)+c

D) v =

(D) y =%

The solution of the

dy _ X(logl+l) is
dx x X

+C

equation

(A) log (%j =cX (B) % =logy+c

(€) y=logy+1 (D) y=xy+c
Solution  of  differential  equation
Gy =Y % s

dx y+x

(A) log, (x> +y*)+2tan ' L +c=0
X

2 2

y X
B) Z—+xy=xy——+c¢
()2 y=xy -

(€) (1+3j y:(l—ij X+c
y y

(D) y=x-2log, y+c

81.

82.

83.

84.

8s.

86.

Ify = . , then its solution is
X+y

(A) y* +2xy-x*=¢
(B) y* +2xy+x’ =¢
(C) y’ —2xy—x"=c
(D) y* —2xy+x’* =¢

Exact differential equations

The solution of (x —y’)dx + 3xy’dy =0 is

3

(B) logx + 2 =k

X

(A) logx +=
y

(D) logxy -y’ =k

3

(C) logx — — =k
¥

The solution of
ye *Ydx — (xe ™Y +y’)dy =0 is

2 2

—x/y X —x/y
(A) y?+e "=k (B) S+ =k
© X—z +e¥¥ =k (D) y_2 +e¥ =k

2 2

The solution of the differential equation
xdy + ydx —/1-x’y’dx =0 is
(A) sin' xy=c-x
(B) xy=sin(x +c¢)
(C) log(1-x’y*)=x+c¢
(D) y=xsinx +c
Solution of the differential
ydx —xdy+ xy’dx =0 can be
(A) 2x+x’y=Ay (B) 2y+y’x=Ay
(C) 2y—y’x=Ay (D) None of these

If ¢ is any arbitrary constant, then the

equation,

general solution of the differential equation
ydx — xdy = xydx is given by

(A) y=cxe™ (B) x=cye™
(C) y+e" =cx (D) ye* =cx




Differential Equation

87.

88.

89.

90.

91.

Linear differential equations

: : d
The solution of the equation xd—y +3y=x
X

1S
4 4

(A) x3y+XT+C=O (B) x3y=X7+c

4

(€) X’y + XT =0 (D) None of these

The solution of the differential equation

dy .
—— +y=COSXx1is
dx

1 . ,
(A) y= E(COS X+sinx)+ce

1 : :
B) y= E(COS X —sinx)+ce

(C) y=cosx+sinx+ce "
(D) None of these
The solution of the differential equation

d .
—y+ycotx =2cosXx 18
dx

(A) ysinx +cos2x =2¢
(B) 2ysinx +cosx =¢
(C) ysinx +cosx =c¢

(D) 2ysinx +cos2x =¢

The solution of  the equation
(X+2y3)ﬂ—y =0 1s

dx
(A) yl-xy)=Ax  (B) y' —x=Ay

(©) x(I-xy)=Ay (D) x(I+xy)=Ay
Where A is any arbitrary constant
The integrating factor of the differential

. dy > .
equation d_ =ytanX —y  Secx, 1S
X

(A) tanx
(C) —secx

(B) secx
(D) cotx

92.

93.

94.

9s.

96.

97.

Integrating factor of differential equation

cos xﬂ+ ysinx =1 is
dx
(A) cosx (B) tanx
(C) secx (D) sinx
Solution  of  differential equation
dy —_
i +ay=e™ is

(A) (a+m)y=e™ +c

(B) ye®™ =me™ +¢

(C) y=e™ +ce™

(D) (a+m)y=e™ +ce ™ (a+m)

The integrating factor of the differential

. d )
equation (x logx) d_y +y=2logx is
X

(A) logx (B) log(log x)
(©€) ¢ (D) x
Integrating factor of the differential
. dy .
equation —+ytanx —secx =0 1s
dx
sinx 1
(A) e (B) —
sin x
1 COSX
©) (D) e
COS X
The solution of the differential equation
xlogxg+y =2logx is
dx
(A) y=logx+c
(B) y=logx” +c¢
(C) ylogx =(logx)’ +c
(D) y=xlogx+c¢
Solution of the differential equation
ﬂ+ ysec’ X = tanxsec’ X is
dx

tan X

(A) y=tanx —1+4ce”
(B) y*> =tanx — I +ce™
(C) ye"™* =tanx—1+c¢
(D) ye ™ =tanx—1+c¢




Differential Equation

98.

99.

100.

101.

102.

103.

An integrating factor of the differential

equation (l—xz)%—xy =1, is

X
A)— B) -
(A)~x ®) - =

1
(€) y1-x%) (D) Elog(l—xz)
Integrating factor of equation

(x’ -Fl);i—y-l-2xy:x2 -11is
X

2X
A) x*+1 B
(A) x ® -
x* =1
©) = (D) None of these
X +1
The solution of ﬂ + Y_ 1is

dx
(A) y=3+ce*” (B) y=3+ce™

(C) 3y=c+e*” (D) 3y=c+e™”

y+x’ = j—y has the solution
X

(A) y+x* +2x+2=ce"
(B) y+x+x*+2=ce™
(C) y+x+2x* +2=ce’

(D) y* +x+x* +2 =ce*

The solution of ? +p(x)y=0is
X

(A) y= cejpdx B) x = ce_jpdy

O y= ce_jpclx D) x= cejpdy

The solution of ? +y=e", y(0)=0,is
X

(A) y=e (x=1)

(C) y=xe " +1

(B) y=xe’
(D) y=xe™

104.

105.

106.

107.

108.

Integrating factor of the differential

equation ? +P(x)y =Q(x) is
X

(A) [Pdx ®) [Qdx

(C) eJde (D) edex

To reduce the differential equation
j—y+P(x)y=Q(x).y“ to the linear form,
X

the substitution is

1 1
(A) sz_“ B) v=—5
(© v=y" (D) v=y"
The solution of differential equation
dy .
—+y=1lis
dx Y
(A) y=1+ce™ (B) y=1-ce™

(C) y=x+ce ™ (D) y=x-ce™

Application of differential equations

Equation of curve through point (1,0)
which satisfies the differential equation
(1+y*)dx — xydy =0, is

(A) x> +y° =1 (B) x> -y* =1
C)2x° +y* =2 (D) None of these
Equation of curve passing through (3, 9)

which satisfies the differential equation

1 .
QZX‘F—Z,IS
dx X

(A) 6xy =3x” —6x +29
(B) 6xy =3x"-29x+6
(C) 6xy=3x"+29x -6
(D) None of these




Differential Equation

109.

110.

111.

112.

113.

114.

The differential equation yj—y +x=a(ais
X

any constant) represents

(A) A set of circles having centre on the y-
axis

(B) A set of circles centre on the x-axis

(C) A set of ellipses

(D) None of these

The equation of a curve passing through
1L

2i
X

(2, %) and having gradient
at(x,y)is

(A) y=x"+x+1 (B) xy=x"+x+1
©) xy=x+1 (D) None of these

The equation of the curve through the point

1S

(1,0) and whose slope is —
X"+ X

(A) (y-Dx+1D)+2x=0

B) 2x(y—-1)+x+1=0

O x(y-DH(x+H)+2=0

(D) None of these

The slope of a curve at any point is the
reciprocal of twice the ordinate at the point
and it passes though the point (4, 3). The
equation of the curve is

(A) x> =y+5 B) y'=x-5
(C) y*=x+5 (D) x*=y-5
A particle moves in a straight line with a

: : d :
velocity given by d—)t(:x+l(x is the

distance described). The time taken by a
particle to traverse a distance of 99 metre is

(A) log,, e (B) 2log, 10
1
(C) 210glo ¢ (D) EIOglo ¢

Solution of  differential
x dy — ydx = 0 represents

equation

(A) Rectangular hyperbola

(B) Straight line passing through origin
(C) Parabola whose vertex is at origin
(D) Circle whose centre is at origin

115.

116.

117.

118.

119.

120.

Integral curve satisfying

2 + 2
y'= Xz yz ,y(1)=2 has the slope at the

point (1, 0) of the curve, equal to

(A)-5/3 B)-1

(O] (D)5/3

A particle starts at the origin and moves
along the x—axis in such a way that its
velocity at the point (x, 0) is given by the
formula ((11—: =cos’ mx. Then the particle
never reaches the point on

(A) x= (B) x=

AW

(C) x = (D) x=1

Miscellaneous differential equations

The solution of the differential equation
d’y 1

-—— i

dx’ x

(A) y=logx+c,x+c,

(B) y=-logx+c,x+c,
1

(C) y=——+cx+c,
X

(D) None of these
2

The solution of % =sec’ x +xe* is
X

(A) y=log(secx)+(x—2)e" +c,x+c,

(B) y=log(secx)+(x+2)e" +c,x+c,

(C) y=log(secx)—(x+2)e* +c,x+c,

(D) None of these
2
If d—}; =0, then
dx
(A) y=ax+b (B) y* =ax+b
(C) y=1logx (D) y=e"+c

2

d ) .
If d—}z] +sinx =0, then solution of the
X

differential equation is.
(A) sinx+cx+c, (B)cosx+cx+c,

(C) tanx +c¢,x+c, (D)logsinx+c¢,x+c,




